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(Set) &+
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Lyt e sl b

-& (Set of Natural Numbers) QVK)L@U?L; N=1{1,2,3,..}

- (Set of Whole Numbers) .:;Kwug W=1{0,1,2,3,...}

-< (Set of Integers) qéwé; d={.,—-3,-2,-1,0,1,2,...}

-< (Set of Rational Numbers) 2§l P bl «Q

- (Set of Real Numbers) &,{“K)W’&i R

I LAy

S >IN
: (Listing method or roster method) 4 £/
g 6) ,fuwiu(;!ﬁ;ééé.&wﬁ‘/ufﬁﬂwz“uﬁdi@ﬁ/u(n&iquﬁ%}m
_‘Lmd»/t&w/u@nrﬁgg A e IS S It
i L oL fie s AG e Fend 10 = 1: J&
A=13,57,9} L A=1{7,3,5,9)
L Tpmlic Ll e am o JEBY remember Ulg - 2 (s e, m, by Er€ 37Ut remember
L it S
: (Rule method or set builder form) 53 * (LU d_ Sl emr®
LT Aot ISt L NE e B SIAL bt a St SIS
L1051 2x JeUAU x S A AN A= (x|xeN, 1 <x<10} J& _ g2l (5
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B erd UL unleb M luend 10 & 1 JiUT B = {x | ~csrfulend 10 11 1 4 a2 JE

Lo 2357 2 pEH
-ZU:.”{}WLJ}LQ)&/VL’)M)‘“?‘LL‘L&{%LW’JLL::, Q
Q={§|p,qe I,ff‘iO}

_c‘.mé}f/éé/ q /yc‘_mé‘é/ p Sl Js® g Loyl
_‘me“cu:‘?/’ui»&muﬁuﬁ'@ndﬁé : uﬁjt%i/“

.@,/d/?ﬂ’;oa‘r‘} D AGH
A= {x| -‘a_}](ﬁ] DIVISION . «x} A={D,LV,S,0,N}
B=y| =9 Jeswlitly o) B={-3,3)

C={z| -‘gmd?’e}{é 30 L 5 L ez} C= {5, 10, 15, 20, 25}

-éd“@wéf/ifufdléafdwtﬂs e

3G B A
A={2,4,6,8,10,12, 14} A= {x|-+;xdfb¢&e,@’¢ 15 o «x}

........................................................................ B={x|-culrJlund 20 = 1 4 )

........................................................................ D={y| -« bsL6LAT % o)
........................................................................ P={x| —3<x<3 fc)m%wé; o}
M={1,8,27,64 1250 | e
11 e d”
ey MGiendits ()
bl Peoend 50 1 (i) bl e ()
kU L E (iv) LB ER (i)
-éutywrfgtgana,:uﬁu?wdsw )
(i) % €q (i) —2¢ N (iii) P={p| -cwGbtly p}
S B PRl (Lni ) WL P NG S )

)



LB phendies @)
e LS A ()
_er 6370 53 ‘COMPLEMENT (i)
—er A B YUl (i)
el Mulend 20 = 1 (iv)
_er KPPl ()
L Sl ventintins ()
() A={1,4,9,16,25,36,49,64,81,100}
(i) B={6,12,18,24,30,36,42,48} , (i) C={S,M, L L, E}

(V) D= (£ o2 el wr S p ¥} () X = (a6 t)

o
jﬂf@ A

Types of sets ru“’d/q

Je- -/ ey
A=1{2} et Lt e e
_4‘"_:,«5{;!,@')/5”:452, A -uj‘é"’f ii{dg.{’ Joreli | (Singleton Set)
B={x |~Lamdfbugw£ 32 o x} u‘{..ggwﬁéﬂd;utqu’ &{fdl}
CB={} L ¢ bl Sl (Null Set)
(Z6) ¢ { ) feruiur | EmptySet)
N, 20 SISO
C=1{p]| _‘L}ﬁ{%’ﬁ:ﬂ;’— 4 nl22 51 L) | S L e twerdbirs STy
C=1{4,8,12, 16,20} Kl e Qoo st § UKl (Finite Set}
g mmsford i pES
N={1,2,3,.} Goe it sl § b U emr il
Jorel {LF 'S Q/U:‘il?uﬁu’g:. (Infinite Set)
s )

B



_E et a iUl SIS 8 A5 S 58 -
() A= {x]-c240by x s xeN} (i) B={x|3x—1=0 s/ xeN}
(iii) C = {x\_‘a)ﬁ(,},ﬁ.ﬁc, ToxsxeN} (iv) D={{(a,b) | a, be W,a+b=09}
(v) E = {x|xel, x*=100} i) F={(a,b)|a, beQ, atb=11}
A={x]|-c4dby sxeN} () S
A=(1,3,57,...0 . (cezrndifl)
B={x|3x—1=0.xxeN} (i)

3x—1=0,.'. Ix=1 xX==

el Bl B= ) %e N o~
C= (x| —criphfim T x sl xeN} (i)
LC=1{7,14,21, ) (el
D={{a,b)| abe W,a+h=9} (v
e atb=9 sumed® bt a SLANGES DS bt a f
LML e 35 er D L Fel e d S b e a &
D = {(0,9), (1, 8), (2, 7), (3, 6), (4, 5), (5, 4), (6, 3), (7, 2), (8, 1),(9, 0)}
g e SRR Sl S L
el i D
E={x|xe x*=100}
E={—10,10} .. -c&ssizE .
F={{a,b)|a be Q, a+hb=11} (i)
F={(6,5),(3.8),(3.5,7.5), (— 15, 26), ...}
_utGn Uiz LA
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(Equal Sets) Lx(sL+

GG e U Bz Ut A Lr 6 B L w1 B L A
e A=B erbe | Jrisile B sl A
A={x|-c 8 listen z cx} , . A={Listen} :1)J&
B={y|-¢Jsilent , cy} , .. B={s,i,l,en,t}
-« A=B LUlgrerdila, B ol A “&w_ugu'uumu’? :c‘_.eﬁi,;}Juemuﬁ B s A
A={x|x=2mneN0<x<10}, ..A={24,6,8,10} :@2)J&
B={y|1 < y<10 slesw=y} , . B=1{2,4,6,8, 10}
~terSle Bl A Ly
LSS N s stns
C=1{1,3,5,7} ) D={2,3,57}
VB sz lrl D C Y
2¢C 2eD 1¢DdeC S
C # D LUlypufesls D sl C LU
SEISSSA£B 2 B={1,2,3,4) s A={1,2,3} J: 3) J&
B={11,13,17, 19} s A={x|10<x<20 slcsis#y ex} : (4) J&
AU A=B Uk

12 o

AL e St e s (1)
A={x|3x — 1=2}
B= x|~ SAF e S 1 Fe B < x)
C={x|xeN,x<2)
_ﬁngLg terGlsBulAY ()
A= P} ., B=A{x|7x-1=13}
_ggjv{i.?, frdbere wie fSits  (3)
() A={al-cwl b % a)
(i) B={x|x*=0}
(iii) C={x|5x—-2=0, xe N}

(3




- JZVL.?: ?)}fﬂc,u;gﬂq?u#&:‘a,u}/a, ui'J"}Zw) 4)

(1) A={x|x<10 2l ‘Lu&u’fi , X} (v) &{K@UTéoéf:.
(i) B={y|y<—1u ‘L)ﬂé; <y} (vi) q«ém}‘(

(i) C=rblplil eslag JSUFIST (vii) 2rElel P

-~

(iv)  2rbUsePL L UsBL T

(Venn Diagrams) /| befs

Corddl¥ g2l Soory JUBISIL SV oo Sl o i i Llen
LA e 5L UGt JE1 s Ku/l;utcj.LL/J’u’ff»&f/r.:gmg.iévﬁuyﬂ
-ZMLJAJU}J@‘J}@/}L’ quLLaLUj

fg)wf&yp/u:wuue’un&”‘ A A=1{1,2,3,4,5 :J&
& -([%c../d_uuj o251t -‘a“luﬁé A d’.{qufl}u:;
_‘Lgmxﬁ’(ﬂ:ﬂ ‘U'J,lgdf
9 1834-1923 )
0o -1 -2 -3 B
-4 -5 -6 -7 B={x|—10 <x <0 »lcssCy x}
-8 -9 -10 —e b bder B Shepsinlstl

(Subset) _,wf

B oA uerd® Acrd Blroe 6T Acr Sk B ersiters B sl A
2y e §E A LB A Ll B UL e etk

A=11,2,34,5678} : (1) J&

B=1{2,4,6,8
-‘adgua{g A erfb B UL
. BcSA

_‘gn/glegz//l’gfcfl}q:»(@t}”‘u’!



e Ve Sbuerbusd il eslagliir§usl ooz (KUV
_E e Lerdib et b
Lrufleslz () (D)

kU bl e L esz (i)

e bl LEUEA LS ()
05 L S b g ‘Jﬁ 7 )
LB L i) SLBEL () 1,%&;5&5@;

'Z'Q/C’?{'iz’."‘f?:ﬁ:/w’
I= &r%w'g «N= @r%wdfb 2) J&
-Q‘?Lﬁf:}lﬂléjﬂﬁlu’fbf%r)’fu:"’fu[% Ncl J~

S=1{y|yel, =5 <y <5} #IP={x| -8kt 25 2 x} 3) J&

P={—5,5) Dy (% PNy
S={-5-4,-3,-2,-1,0,1,2,3, 4, 5) Lo w s 2 B 4G

e S s I P U

AcAG -+tn¢gf Lhderr (D)
b A e trerFResendt (i)

BcAsAcBYA=BJ (i)

SN

A=BYBcA s ACB (iv)

el i A= 13,478y e
S=1{1,4,7,8} <V={1,4,8} T={4,78} P={1,3} [>

BB égu’{é/cutui’_ugaét?auqfﬁg U




et 9 LA UL ke Ky 6
L gl Lk hr nel o GGG L AP £ 9 = 1 gt
_Aalg’?gji&fu??&fL'»ﬁ 9 1 Lf,l:

bl 47 ve S
A AN/A ANA A %
AAA A A A\ 0L

-u*ajz_;du;)wic;u/u/u'"u)lafd/u/i»’dy e x? :L“lf‘f&C
..quc;zi_)d/VL’)MW&{/;;)AJJL{:(QL’Q;Lujc;..jﬁwl/@fgd_ug/z

-ugLﬂé.;&fm{ufJ} Ji

A={ .., -4,-2,0,2,4,6,..) B={1,2,3, ...}
C=1{..,-12,-6,0,6,12,18.....} D={...,,-8,-4,0,4,8, ..... i
I ={ ‘‘‘‘‘ 9_33-29-13091323354? ----- }

_;é&/?u’l_‘aééugvufc U:J“)'Z'/JJL}AJJ’
e er KWy B (i) —elrdFercllr D «C B LA ()

5
jﬁfé' e

(Universal Set) &x (367

LU A LI b b o 367 otz L d S e eles cp dnd Ly
-Lat‘n.’;{uf Kay@uf.zg/;/,@)_“g/u:@fﬂ

Ll sty 9 L LUa L840 28 NE G f i estaygs 9 SUFILIZES 1y Jé
B GT cer b UL S e K e UL sz St D
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(Complement Of a Set) &,{“Jﬁc

H o MG B Lpdepl Yihar st BT US2UE B ord BeU e er 367U ZEU9

gl b BOU B lr K B os

¢
o

LB ={x|xeU, xgB) g ESIS B LA

19

1 3 5 A’ |U
2 A~/
4 6 8
10 9
Bf

U= {1,2,3,4,5,6,7,8,09,100 :(1) J&

A=1{2,4,6,8,10}
SN =1{1,3,5,7,9)

U={1,3,9,11,13,18, 19} ‘,,étf/ - (2) Ji&

B=1{3,9,11, 13}
. B'={1, 18, 19}
S barisl g (BY) o
e L KU U Ut B ey (BY
U S (B)=B
YR PN S B T,

- m.:;mp&’i:{% K&{:‘.VC

eSS S U A A ()
AcU s AcU (i

U= 6 e b dbesr dOber 36T (i)
o = U -‘gbn.brdléﬂ.b{ﬁl{&rd& (iv)




13 erd”

U:L)“‘)';}’Z D = {as 6‘} C = {bs d} B = { ¢, d, e f} A= {aa b, ¢, d, 6‘} /';’ (N
A ?Léwugvuﬁ,né"ugw/c
(1})CcB IWAcD (iMDcB (ivvDcCc A (v BC A (vi)yCc A

S e SO ser Y il 2 X /L/?Mz:.zgdu”/q&wdié 201 (2
i) X={x|xeN,7<<x<l5}
(i) Y={lyeN, cu upnl 20 1,y
U=1{1,2 3,78 9, 10, 11, 12} (3
P={1, 3,7 10}
_EIBE (P = P i) -z b2 sl Sy P sl P UG) Y
I L A i A= (1327 (@)
e enbere ol el el s B ©

-‘a.b,g(u,ﬁgzidﬂ;{,:u, M _‘a."/{l{u;ﬁigé:;a’:{ P
_‘aq(uwﬁ@éo/léd B —%&rgu}pﬁgélﬁl’:/ I

—e KUl Py, H
Wbl o ST Lrr sl 0l (i)
W2 oY bl e BETL L i Uin Ldh L I Ul et (6)*
B=crbiulle syl 7 A= Bl A5 ()
C = erblul i 12
T = Lrbleladpl? «P=crBlelfa®l 4 (i)
ISP A Sl i S e nlie 1 50% UhSi-e i $ETlr €M Ul 2ol R P ()
BN

(Intersection of two Sets) { L/6Er)

g e Sy B sl A Sl IS B sl A LUt B sl A S5 PP

gy BLWIA = uigrzf AnB <
ANB={x|xe A sx e B}

)



B .
A—p b B=12,3,6,8 « A=1{1,3,57 :(1)J&
[T | .
= L
-\l .
%zlﬁi -§.ng 3 JerUdngl B sl A
SLCAMB={3}

B=1{1,9, 11}, A={1,3,9,11,13} : (2) J&
3 iuzugﬂ-.f}% 11¢9¢1 U< B Ernl Aer

i B={1,9,11} & -~ ANB={1,9,11}
.. ANB=B

-é/uﬁuwcf-q-&rf €A 2 BUk

BCA J BNA=BLAS-ANB=B JBCA Sl

éyf‘?d/&{(flbm
ANB=A 7 ACBJ ANB=BNA (1
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